Subject: Re: Where is the error in this DCT-approach?
Posted by rogass on Tue, 03 Nov 2009 10:36:11 GMT

View Forum Message <> Reply to Message

On 3 Nov., 00:44, pp <pp.pente...@gmail.com> wrote:

> On Nov 2, 9:27 pm, chris <rog...@googlemail.com> wrote:

>

>> Does nobody have any idea?

>

>>

>

>> CR

>

You should at least describe the problem before expecting an answer.
Not many people will try to interpret a page of code just to try to
guess what problem you may have.

vV V. V

Ok, that's right. Thank you. The problem is that a forward followed by
a backward transformation of, for instance, a "dist"-image shows only
a simple cross and not the "dist"-image again. | cannot understand,
why the code won't work as expected. Please help me!

Thanks and best regards

CR

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6429
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=29673&goto=68558#msg_68558
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=68558
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

